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25 plt.grid()

26 ax = fig.gea()|

27 ax.set_xlim(start, end)

28 ax.plot(x, y, "bo")

29 ax.plot(sx, sy, "b")

30 ax.set_xticks([@.@81, .81, 8.1, 1,18,28])

® -2 fig.savefig("sp@.png")

31 ax.get_xaxis().set_major_formatter(matplotlib.ticker.ScalarFormatter())
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1 £l 2 H4Z i

5 mun

3 Created on Mon Apr 15 23:13:88 2819 N_points int 1 leeoee

4

5 flauthor: masakioffice axs object (2,) ndarray object of numpy module

7 end int 1 28

2 import numpy as np . .

9 import matplotlib.pyplot as plt n_bins int 1 28

1@ import scipy.interpolate .

11 import matplotlib.ticker L] int 1 1e

12

13 start float 1 8.e01

14 start = @.@8l

15 end = 28 SX float64 (1@e@,) [1.8060000e-03 2.1019019e-82 4.1838838..

16 x = [19,9.5,4.75,2,0.85,0.425,8.25,0.106,9.975,0.0852,0.0369,0.0234,0.9135,0.00958,9.98678,0.0034,0.00139] A e [ 1.41983498 3.76788519 4.99658332 ...

17 x.reverse() il oa ( 5) 98.7 ...

18y = [1ee,98.9,98.4,96.5,93.7,81.5,49.8,6.9,5.7,5.3,4.8,3.9,3.3,2.9,2.5,1.9,1.5] 1ist 17 [@.28139, 8.0034, ©.80573, B8.80953,

19 y.reverse() * 1s 8.0135, ©.8234, 0.8360, 0.852, 0.8 ...

28 sp = scipy.interpeolate.InterpolatedUnivariatespline(x, y) . - [1.5, 1.9, 2.5, 2.9, 3.3, 3.9, 4.8,

21 sx = np.linspace(start, end, 1028) ¥ Z= 5.3, 5.7, 6.9, ...]

22 sy = sp(sx)

23fig = plt.figure()

24 plt.xscale('log")
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In [27]:

In [27]: runfile('D:/Pythonsrc/graphl.py’, wdir="D:/Pythonsrc’)
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In [28]: ]
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